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ACCOUNTING, COSTING & ESTIMATING

e awa . dA W) [siftrmam 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Fe: (i) I A 8, 994 8 fEl ar & IR G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) W% 59 F G 97N F) FHEAR TF G FF Hiad |
Solve all parts of a question consecutively together.
(iii) FIF 597 B 79 Y8 & IRE Fad |
Start each question on fresh page.
(iv) @1 T3 4 3R g7 # 1Rfa 7 3 sare & = 8 |
Only English version is valid in case of difference in both the languages.

1. (1) foad @ ame % ge o T8 R

(a) Usfi (b) =T UTA

() w& @ @4

Which one is not an element of cost ?

(a) Capital (b) Raw material
(c) Labour (d) Expenses

2) forg ad seenar 2
(a) 1 <Hatl | 31 femmm (b) 1303319

(c) 1JEEHE 30H @ 1 9=ah | 30 faarar
Financial year is known as
(a) 1% January to 31¥ December (b) 1% April to 31" March
(c) 1% July to 30™ June (d) 1% January to 30" September
() JereA favm  F F Trel safdl i & SR el Ui FEed @

(a) 9 (b) weh

(0 @l @ wETE
The amount paid to the person working in production department is known as
(a) Salary (b) Wages

«{c) Expenses (d) None "

(10f 8) P.T.O.
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(4)

&)

(6)

)

®)

(20f8)
o2 3 2 U WHH
(a) i worreh! (b) wwdE v
(c) IeareA woret (d) 390 H | HI§ TE
Hourly rate is a kind of
(a) Scientific system (b) Indian system
(¢) Production system (d) None
eae gve et
(a) wfaa=rsd b) wfyaeg®d
(c) ufaamrfes s (d) wfa e ufy guer
Directly chargeable hour shows

(a) an hour of work done by worker
(b) per product work done

(c) per week work done

(d) per hour per production

w41 %1 W93 A4 foa e &

(a) TEHFITIH (b) aEFAAH

(c) HWHH<H (d) ot ft
Statement of expenses is prepared in

(a) starting of year (b) middle in year
(c) end of the year (d) any time

@41 %1 e o T 2

(a) IcureA fawm & (b) IF-IeareA fawm #
(c) Tordtoft fwm & (d) it ot

Allocation of expenses is done in
(a) Production Department (b) Non Production Department

(c) Any Department (d) Any time
fopedt saaar # waq feud =i fea I 2

(a) mafea (b) wwfa

(c) Fhfera (d) TOET

In any business is rent of building in done

(a) Allocated (b) Apportionate

- (c) Estimated (d) Calculated - SR A
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(10)

(1

(12)

(13)

(30f8) 149
wenafas @l & fa a2
(a) 3EA (b) WA
(c) oo @ g
Administrative expenses are
(a) Allocated (b) Apportionate
(¢) Distribute (d) None
Ty R F 3 R
(a) THFTM (b) FHFEA
(c) ThFZA (d) = gz fewe
W_.LT. stands for
(a) Work In Time (b) Work In Trouble
(¢) Work Into Travel (d) Work Instruction Ticket
wmTa fam & aeq &t e fepredt It 2
(a) TRAfaSH (b) of e
(c) ImIa ) wft yr Hr
Cost of product is calculated in costing department
(a) Basic (b) Complete profitable
(c) Estimated (d) All kinds
A 93 gl 1 fwfor g 2
(a) IEEAdGE (b) 3eATEH & TTET
(c) 3IeUTeH &% e (d) wfrsh
Entry of rates on estimate form in filled
(a) Before production (b) After production
(¢) During production (d) Anytime
it f5fen 2 s wwn

(a) B9 g il ) o A H ulEE

(b) oo g2 il < o R

(c) TEashi H BY Weg| ! MU

(d) e i e ¥ A w3 gEl 6 e us Pifvea wike ada |
Copy fitting is a kind of

(a) calculation of printed page

(b) calculation of non-printed page

() No. of words printed in book

(d) No. of pages to-be made after setting in a certain fontsige~t - —————
P.T.O.
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(14) = @9a %1 5 2
SNACKS SPANKS
@ Ty W ®) 365 ke
SPANKSG SNAPS
T @ T355 ke
Ink consumption formula is
SNACKS5 SPANKS
(a) 655 kg (b) 365 kg
SPANKSG SNAPS
(€©) 355 ke (d) 355
(15) SHifeen 319 wsh whwar 2
(a) wreal &t oA Y (b) ATEAL < UET L
(c) o o wfskaT (d) IS
Costing up is a process of
(a) word counting (b) line counting
(c) encount (d) None
(16) ¥9g et 9gfa 2
(@ i 9g 9 It (b) A YIE T AT
(c) *9 Vg T IFAH (d) Faa e T FYS
Time Rate System is

a7

(a) very accurate & scientific  (b)
(c) only accurate & non-scientific (d)

less accurate & non-scientific
only scientific & non accurate

a5 <l ST Qofaar age 6 s =i

(a) wifesd (b) TEHH

(c) wifeTs 9 UES = (d) Ha I Hae qIGU §
Recovery of element of cost must be recover by the

(a) owner (b) customer

(c) owner & customer (d) only & only by labour

(18) U BH 1 geHIHS U3 aT 8

(a) ©mM™ (b)
(c) =g g @
A balance sheet of a firm shotvs

(a) profit (b)

(¢c) profit & loss both (@

wfy
giEmfy g e

loss
Assets & Liability
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(19) T 44 98 aed & 9 Faral & U fafvaa fafa &
(a) R aSH (b) Twgui ASE
() Yot d) wETH
A trial balance is a statement which indicate the fact on a particular date
(a) ledger balance (b) complete balance
(c) capital (d) None

(20) TS &1 R e A 8 T R

(a) A (b) W& ferman gt

(c) Taraeht fmn (d) st

Which is not base of apportionate ?

(a) Raw material (b) Building rent capital
(¢) Electricity rent (d) Capital

(21) = wafd o= WO A 2

(a) JeareA fawm g (b) I3 fawm g
(c) wemae fawm g (d) I90 ot & g
Work daily docket is filled by

(a) Production Department (b) Non productive Department
(c) Administration Department (d) All the above

(22) e “fred witw wefaer” wuz s b < 2

(a) @ fawm &t (b) wra fewm &1

) wWrH (d) &

Daily return of material issued is a Performa submitted to

(a) Account Section (b) Costing Department
(c) Store (d) None

(a) s (b) wifEss
(c) Wi (d) o
Cost of recorded production calculated in

(a) weekly (b) fortnightly
(¢) monthly - (d) -yearly

P.T.O.
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(24) Taumfa s Tafya 2
(a) @it 3mre fwmr @
(b) aft wafRra seared fawm 3

(c) @ft Ieurfed & AiA-3eafea fawm &

@ HiETE
Departmental cost is related to

(a) all productive department
(b) all related productive department

(60f8) 149

(c) all productive & non-productive department

(d) None
25) F=ddfEaa s e TE R
(@) JFEHH A (b)
(€©) T (@
Which is not a tool of estimator ?
(a) Magnifying glass (b)
(c¢) Em scale (d)
(26) aTufires @TeEar wafda Sl 2
(a) TS SHTEE B (b)
(c) ¥ Faa HI )
Relative profitability shows
(a) single business (b)
(c) partial business (d)
27) e e faparm =1 duror fsar smar 2
(a) < fawmr gro (b)

(c) TFomvamafaumgm  (d)
Daily sales book is maintained by

(a) costing department (b)
(c) book keeping department  (d)

(28) Weusl Ha1 @4 Grafa 3

(@) @Wad (b)

(c) wa@d @
*  Direct service expenses are related to

(a) Cost (b)
__ (c) Accounts (d)

Feperel
2fEnfie

Calculator
Densitometer

wrafra geguf =aar S
foreft =6t &

related all businesses
None

IeareA fawmr g

I At

production department
All the above

gt |

ELek:

Capital

_Salary
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(29) ‘U’ Soft w1 wERT fopan s 2

(a) drEH (b) UISd q SHEEIGH
(c) feormrsid @) wfid

‘A’ series paper is mainly used in

(a) poster printing (b) text & commercial
(c) enveloping (d) All the above

(30) &Tel %H 98 Bd &, A
(1) EEAFEIAFHIAITAL |
@) T a6 wwa § g T |

I90E FYA ¢

@ (1)aFRI (b) 2HiIEAE |

© )aaR| @ (Na)IFEAE |
Out work are those —

(1) Which is executed at their own expenses.
(2) Cost of these out works is added to the job.

From the above :
(a) (1)istrue (b) both are false
(¢) (2)istrue d (1)&(2)istrue (1x30)

2. & g Hifsw
Define the following :
() ufeeten

Estimating
(i) W=
Hourly Rate
(i) womrafTs @
Administrative Expenses
(v) T
Capital
(v) wegd

Wages (2x5)

3. qER-EER 2 1% fop webr AT Rpa ST 2 7
What is Balance Sheet ? How does it prepare. (10)

4 T g aE AR 2 o 3 v el <6 ferga s A 1

What are elements of cost ? Describe the elements of cost in detail. (10)

- - - -—

P.T.O.
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5. fawmiteo w7 @El % Fgad 9 WS & 37 S TE HA g SR FHAET |

What is Departmentalisation ? Differentiate between allocation and apportionment of
expenses in detail. (10)

6. M 33w e 7 2 7 39! yftes 3 franfafy =6t farangds awsmu | (10)
What is W.LT. ? Explain its role and working procedure in detail.

7. fr= A s o difv : (i@ d)
Differentiate the following : (any two)
(i) it g ufenfen |
Costing and Estimating
(i) eIEq AWTH 9 |
Direct and Indirect hours
(iti) =2 9 frprEz &rmE |
Budget and recorded cost (5x2)

8. fr=fafea = auzmsu
Explain the following :
(i) WA % qeal hl e |
Recovery of elements of cost
(i) Hie WMz (ara =)
Cost sheet (5x2)

9. o 3w aftm fougoft forfiad -
Write short notes on any two :
() U dgara s |
Estimator’s qualifications and work
(i) it ffom g SR 31 |
Copy fitting and costing off
(iii) Emifres FmeEar |
Relative profitability (5x2)



